ANSWERS- VOLUME 2: EQUILIBRIUM
Chapter 3, Cross-Sectional Properties

problem 3.37,1-2, page 147

Remarks: See §3.2.4, example 8, pages 116 till 119
Answers 3.37-1:

a. 1, =3,95x10° mm*
b. 1,=7,90x10" mm*

c. IW =3,95><109 mm?*

Explanation:

Take the cross-section as a combination of a square and a circle.

Dimensions in mm:

8. 1yl ={x500x500°) - {1 1x200*} =3,95x10” mm*

b. I =1 =2x3,95%10° =7,90x10° mm®*

p=lztly

¢ Iy =2x{35x 50082 % (25042) |~ {£ 1% 200*} = 39,5x10° mm*

Answers 3.37-2:

a. l,,=1,55x10° mm*
b. 1, =3,10x10° mm*

c. ly =1,55x10° mm*

Explanation:

Take the cross-section as a combination of a square and a circle.
Dimensions in mm:

a. Iy =1, ={1nx(37,5*} - [ x15x15"} =1,55x10° mm*
b. 1 =1, +1l,=2x1,55x10°=3,10x10° mm*

p

¢ Iy ={4mx(37,5)"} - 2x{Lx15v2x(7,5¥2)’} = 1,55x10° mm*
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